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( ) ( ) 2. a) Explain any two boring methods with a neat sketch.
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1. a} What is meant by N value? Why should we apply 3. a) erﬁt are the Factors affecting bearing capacity of the
correction for the N value obtained from the field? Briefly SOLL:

explain the corrections.
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b) The plate load test was conducted on a clayey soil strata

by using a plate of 0.3 m wide squarc and the ultimate
load per unit area for the plate was found to be 180 kPa.
what would be The ultimate bearing capacity (in kPa) ofa

2m wide square footing.
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5._ a) A drop hammer weighing 60 kN and having ane

fall of 0.75 m drives an RCC pile weighing 34 3 Sty
average scitlement per blow is 1.4 ecm. The 101a|N' The
compression is 1.8 cm. Assume the cogrﬁe,cla“ie
restitution as 0.3 and a factor of safety is 3 dctlﬁr::m

Ing

the allowable load on pile.
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4. a) Whatare the various approaches available to estimate the .
load carrying capacity of a single pile? Discuss the static %? R wferd wR Pl g |
formulae for pile capacity. b) What are the characteristics of expansive and coljape;
soils? . Apsible
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b) A group of 16 piles of45cm diameter is arranged with a foundations on collapsible Soﬂzr;vent IVE measures of

centre to rentre spacing of 1.0m. The piles are 12m long
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and are embedded in soft clay with cohesion 20 kN/ m?. _
‘Bearing resistance may be neglected for the piles. b) ‘A singly under-reamed, 8 m long RCC pile weighing
Adhesion factor is 0.7. Estimate the ultimate load capacity 20 kN with 350 mm shaft diameter and ?;5){] m un de:-

ream diameter is installed within the stiff, saturated silty

of the pile group. :
45 QY. = ¥ 16 RV F U TIE P g @ TR Hr gl ;:1? (undrained shear strength is 50 kPa, adhesion factor
$ 0.3, and the applicable bearing capacity factor is 91
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0.7 &1 = WYE &t SHfH WR T BT AT it capacity, what would be the estimated ultimate ensi®
' capacity of the pile?

CE-802 (B) (GS PTO :
(B) (GS) . CE-802 (B) (GS) | Comé



b)

(5]

350 frft. e @t 3R 750 ), sieR-09 @y ¥ @y
20 kN @519 &1 U hat 3is3-g, 8 fier &igr RCC 2%
PoR, GgH et Mgl (3Fgvs vt afdq 50 kpa 2,
SR B 0.3 &, R S R 47t e 9 8) & e
wﬁﬂﬁmwélwﬁﬁﬁﬁ?ﬂwiﬁgzﬁwﬁ
T BT IRBR A & Rl wae ok amiee o
g 3 SieR—3W A B I, R H R ifm
=T 9T a1 gt P

A 5m high rigid retaining wall has to retain a backfill of
dry, cohesionless soil having the following properties:
Angle of internal friction = 30°, void ratio = 0.74, specific

. gravity =2.68. Plot the distribution of Rankine active earth

pressure on the wall and determine the magnitude and point
of application of the resultant thrust.
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A retaining wall of height 5 m retains a sand fill, whose
angle of internal friction, ¢ =30° and unit weight Is
118 kN/m3. Estimate the active earth pressure force and
its position from bottom of wall.
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Explain about the Culmant’s graphical method.
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A square footing 1.6 m % 1.6 m is placed over sand of

density 17 kN/m? and at a depth of 0.8 m. The angle of
shearing resistance is 20°. The bearing capacity factors
are N.= 1?.7,~Nq= 7.4 and NT = 5.0. Determine the total
load that can be carried by the footing.
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